Directions (1-5) : In these guestions, sentence has two

blanks, each blank indicating that something has been. |
omitted. Choose the set of words for each blank that best fits

the meaning of the sentence as a whole.

. Asmany as five DP’s ......... up at the party, making it a |

niphtto . .

{1} came, recollect
(3) turned, remember
{5) stared, stop

. Consumer mternet companies in india are growing so
......... that they haven’t built the fundamental concept 1f

(2) drove, memorise
(4) jammed, forget

......... people.

(1) rapidly retaining {2) Fast, making

(3) gquickly, polishing. (4) Soundly, training
(5) rapidly, train = | .

. Over the fiext two years, the company will ......... about
USD 106 million in ......... up technology .and brand |
building. ¥ | . e

- (1) indulge, gearing {2} pump, boosting
(3) supply, hiring (4) invest, ramping
(5) spend, upgrading -

. The State government has ......... the first solar policy
which aims at ......... the capital an environment. Friendly
solar city. - |
(1) declared, establishing - (2) approved, making
(3) made, declare ~ (4) Final, making
(5) approved, declare | | s

. The State chiefministerhas ......... amobile ...... ... named

" R Vayu for sharing information about air quality index. -
(1) Started, van . (2) launched, application

(3) declared, service (4 _made, portal

(5) initiated, phone. - o |

Directions (6-15) : Read the following passage carefully and
help you locate them while answering some of the questions.
Banks in Australia have a certain upside-down quality to
them. Their share prices broke free from the gravitational
pull that dragged down their international rivals during the

2008 financial crisis. In recent years, they have soared as.
~others have sagged. Now that big banks n other, rich .
countries are regaining their poise, as is most of the global.

- économy, it is the turn of Australia’s to- slide. “This

topsy-turviness behaviour may Yyet continue given its
worsening outlook. Serving a buoyant domestic econonty
with none-too-fierce competition, Australia’s big four
lenders-Commonwealth Banks National Australia Bank
(NAB), ANZ and Westpac-used t0 delight Sharehpidexjs f
with bumper dividends. But concerns over their
balance-sheets and exposure to Australia’s frothy housing
market have caused their shares to dip. Investors _fear that
the exceptional circumstances underpinning the vibrant
returns of recent years are coming to an end. The

~ commodity “super-cycle” that boosted both Australia and

its banks has fizzled. Unemployment is creeping up. The
biggest concern is the health of banks® mortgage books.

* Home loans have been fabulously lucrative for Australian

banks but this is changing. According to analysts, return on

" them top 50%, levels which would make even pre-crisis

Wall Street bankers salivate. No wonder, then that domestic
home loans now represent 40-60% of Australian banks’
assets, up from 15-30% In the early 1990s. Mortgages in
New Zealand account for another 5-10%. A growing
number of loans are going to property speculators or fo a
homeowners paying back only the interest on their loan.
Recent stress test suggested that a property downturn would
ravage banks. Regulators fret about the lack of |
diversification in banks, especially given their dependence
on foreign money for funding. They want banks to curb
growth in the riskiest mortgages and to finance them with
more equity and less debt. A government inquiry into the

- Australian financial system called for banks to be better

capitalised. Collectively, Australian banks may need as
much as A$40 billion in fresh capifal iﬂ_'mée_;t'_'._.regﬁl&tﬂrs’

demands. The big four are still highly profitable and their
returns will remain better than most despite all the new

ec’;ﬁi_ty they ‘ﬁiﬂ have -t-:_}"rais_eﬂ After all, banks around the
world are. being forced to fund “themselves with more

- equity. Aussie borrowers are. less likely .to. default on
mortgages than Amerigan ones,. as Tenders have a ¢laim on

all _their_}asse'_ts;-‘mit just the property n ques st there

are other concerns as well. Credit ‘orowth in Australia is

. slﬂwmg EXp ansion into crowded Asian imarket seems
dlfﬁcult whmhleaves little scope for diversification. If they
cannot make banks less dependent on morigages, regulators

will Ih_m{e_ 't‘?.ﬁ!@ other ways to make them safer.



6. Choose the word which is most nearly the same in meaning
as the word RAVAGE given in beid as used in the

passage 7 .

. (1) Steal (2) Attack 0 Invade

. (4)Devastate () Scam |

7 Whlﬂh of the following is true in the context of the

. P assage i

ot Austraiia’s banks are stil] etmgglmg to recover from the
2008 crisis,

~ (2) Unemployment in Australia is on rise.

~ (3) Regulators are unwilling to enforce strict reforms on the
banking sector.

| (4) Australian banks have a eurplee of {:ﬂpitﬂl aeeerdmg to

regulators,

5~ (5) None of the given options is true in the context of the
passage.

% What do the banks legeldmg aesete of Australia cited in the
- passage convey ?

(1) Bank assets are heavily concentrated in the heusmg
seCtor. -

.~ - (2) Australian banks have invested too heaeﬂy in preperly
markets of other countries,
. - (3) The four banks are in imminent de,nger of collapse.

{4) Australian banks are safe and are grewmg from strength

to strength.

{5) Australian banks have a huge number of defaulters.
-9, Whatis the author’s view of the global economy at present ?
. (1) The global economy is enltkeiy to recover as economic
© reforms are not stringent.

2 markets are thriving.
- '(3) The economy 1s m furmoil as large Aeaen economies are
_ experiencing a Crisis.

default on their loans.
{(5) Other than those given as options

(2) Equal

(3) Rise |
(5) I)eeiine ~

(2) Ineigmﬁeentiy
(4) Hershly

{2 Impeet
- (4) Frequent -

Wwas/were responsible- for the- Australian - eeenemy 3

pérformance during the 2008 global crisis ?
A Australian banks invested in American hedge funde

B. Austrehe 1nexper1eneed 4 eenunedity base.

_(2) Rich economies have vet to recover while emergmg_

~ (4) Many, European countries are in debt and 11kely to |

), Choose the word which is most nearly the opposite in.
“meaning as the word DIP given in beld as used in the .

Aeeerdlﬁg to the passage, Wthh of the following factors

;

14.

15,

C. Lack of investment in emerging markets.

(1) Only A | (2) Only C .
(3)All A, Band C (4) Only Aand C
(5) Only B

Which of the following is the central idea of the passage ?
(1) Restructuring of Australia’s banks has been very

successiul.
(2) Australia’s heesmg sector 18 enjoving a boom.
(3) The powers of Aue'trelie S benkmg regulator should be

curtailed.
(4) Australia’s benkingxseeter is vulnerable and headed for

difficulty.
(5) Australia is the best forming of all advanced economies

at present.
Which of the following best describes the regulator’s view

of Australia’s economy ? .

(1) Australian banks should adopt American system .of
mortgage to safeguard the economy.

(2) Australia should withdraw from risky emergmg markets.

(3) There 1s a need for some corrections and reforms to be

implemented.
(4) Australia has insulated itself from foreign markets, and

this has hampered growth. -

(5)1ts economy is soaring and recapitalisation and
diversification reforms may be withdrawn.

Directions (16-20) : Rearrange the given six sentences A, B,

C, D, E and F in a proper sequence so as to form a

- B. Chitia in

_t_ﬂ_tj

6.

i7.
‘ rearrangement e

18.

meaningful paragraph and then answer the given questions.

. A. For years, it relied upon export-led growth and massive

investments in -housing, infrastructure (roads, rails,

ports) and heavy industry (steel, glass and aluminium).

' engmeering, a. major  economic
~ transformation—or, at least, trying. o
C. Whether this conversion succeeds or- fails is a
~ momentous story but a Chme that eueeeede 1S more

- likely to be stable. =g
. However, this economic model now eeeme epent

consumer ependmg on services and light menufeetumng

F. A possible reason behind this model becoming outdated .
could be that world trade is’ weak at present and

overinvestment in housing, mfreetrueture end mduetry
| hee caused a giut - --

Which of the following eheuld be the FmST eentenee eﬁer B
rearrangement ? | -

(L) A 2)C
(@) E (5 E

Which of the feliewmg sheeid be 'the FIFTH eentenee aﬁer_ L

(3) B

(A (2) D
(4 F (5)C

{3) E
Which of the feliewmg sheuld be the F@EIRTH eentenee':’ |

. - after ree.rre,ngement 9

- SENTENCE eﬂer reerrangement e
= (A |

. 4)F

(1) A (2)3
(5 E

Which of the following should b e:.e Seeem” '

(3) C

(2)B

. (3) F .

#HD

So, the country -1s switching its engine of grewth to :’I N



articles about how the Indian education system rneeds o,

A

(3} and enjoy the benefits |
(4) when prices escalate. - - b

20. Which of the following should be the SIXTH (LAST) The funny thing is that from colonial times, thip,,
sentence after rearrangement ? | . - S 28.., changed. We have established repm‘.a;
(1) C e (3) A = h%v? h i | law schools and other imstitutiong ¢
(4)B (5)D business Schools, - 07
: : . Students, now, SO routinely score 909 Miarks
Directions (21-25) : Read each sentence to [find out whether excellence. oy ey fndit 29 tomericn
there is any grammatical ervor in it. The error, if any, will be that even with this pﬂI*CEI':!tﬂgﬂ cy ‘ E; 1L
: - ir choice. The problem thus lies with
in one part of the sentence, the number of that part will be the colleges of their che : d B
the answer. If there is no error, the answer is (3), i.e. ‘No doing more of the same old Smfﬁ This needs to change by
Error . (!gnﬂre the errors of punctuation if any.) bringing about .. .30... in education.
21. Studer_;ts who dread not making it to school before the 26 (1) time (2) take
6 : 55 a.m. assembly, may have find it conrforting that a i (3) ever _ (4) long
scientist wants to prove that schools deprive children of (5) decade *
much needed sleep by starting early. | . 27. (1) possession . ~ (2) abundance
(1) Students who dread not making it to school - (3) typical (4) places
{2) before the 6 : 55 am. assembly, may have find it ; (5) sorts - - .
comforting | . - 28. (1) bare (2) hardly
(3) that a scientist wants to prove that schools = - - ' (3) little . (4) much
(4) deprive children of much needed sleep by starting early. (5) highly ; i |
(5) No error . s 29. () simple - ~ (2) casy
22. While the real estate market has being stable, istimeto |  (3)irregular (4) noble
purchase a property now and enjoy the benefits when prices (5) difficult |
escalate. | i . 30. (1) innovation - (2) dreams
- (1) While the real estate market has being .. {3) creating (4) foreign
(2) stable, it’s time to purchase a property now | (5) choice = |

(o) Noermor - _ : 31. The sum invested in Scheme B is twice the sum invested in
23. Taxi-hailing ventures are significantly increasing the Scheme A, Investment in Scheme A is made for 3 years at 8%
- number of cabs that offer free Wi-Fi, following the success p-a. simple interest and in Scheme B for 2 years at 9% pa
of pilot projects. i | _ simple - interest. The total interest earned from both the
(1) Taxi-hailing ventures are significantly - - | schemes is ¥ 1,800/-. How much was invested in Scheme A ?
(2) increasing the number 6f cabs - ._ (1) T 4,000/- | (2) T 3,500/-
(3) that offer free Wi-Fi, | e - ()R3000- (4) T 2.500/-
(4) following the success of pilot projects. .. . )T 4,500/~ ' '

 32. Abagcontains 5 I'debH“HS, 7 yellow balls and 3 pink balls. If
- the two balls are drawn at random from the bag, one after

-another, what is the probability that the first ball is red and
the second ball is yellow IO

~ (5) Noerror ' % | |
24. Organic milk has higher omega-3 fat levels, buf probability
~ not enough to make a different. = = | |

(1) Organic milk has : o 5 | .
(2) higher omega-3 fat levels, i, = . (D o -_ L 0
' (3) but probability not enough - - i B e R
(4) to make a different, . s " -'(3)2 | & 1
~ (5) No error | | e S e ..3 |
25. By early next week, the State Government is likely of .*‘ e () 6 |
?;Egre; frq;fg:eigﬂﬂ vidgos B - | 33. Ram,and Sam are"ﬁéﬁeumg' fmﬁa pointﬂ to B, which are
I B _ . - e R o ; . WHiC
{2) thz Statlz Government is 1ikély L - :gulf];n;:ﬂth; ra;eiiing at a certain Sj:seeci Ram takes on¢
| | | PR A e am to reach pg L
(i) ni;leclg};}rjn L | | 2 O “speed he will take 30 i éa;ﬁé B. If Ram d{}ubfﬁ; h;
(4) a drought 1 ges.. . - - what speed was Ram grivs am to reach point
(5) No error | S M) Sk driving from point A to B 7
Directions (26-30) : In the given passage, there gre bfanks, 2 (3) 30_101’]&‘ S (2) 35 km/h
each of which has been numbered. Against each_number, IO (4) 25 km/h
Jive words are suggésted, one of which fits. r?ze blank | 34, The sum Gfth s
- appropriately. Find out the appropriate word fﬁ.'eg;:*k case. T total Surface :rzdzi\s i‘;‘d h?ight of a cylinder is 18m. Tt¢
Education has been a problem in our country for ...26.... | = volumie of the @}’lﬁi{lih’.l f ‘-_ylﬁfgdﬁr is 792 m?, what is ¢
The lack of it has been blamed for all ...27... of evil for |~ (1) 1848 i mm -'



Directions (35-39) : Refer to the graph and answer the
- given gquestions. _

Number of gloves of ‘XVYZ’° brand seld in
Town A and Town B in 6 different months

400
350
300
250!
200
150
100
50

0

Number of gloves sold

Oct | Novi Dec Feb

_ Jan .
1501 980 | 350 | 270 190 80

120 1 200 { 320 300 | 100| 30

35 The number of gloves sold in Town B increased by Whm
- percent from October to December 7

_;,,,. Town A
- Town B

y;
(1) E&SE% (2) 161%%
| 1 |
(3)164-% u (4) Iﬁﬁg%
| % 3
(5) mg%

36 ‘What is the difference between the total number ﬂf giwaa
i sold in both the towns mgether in January and the fotal
number of gloves sold in both the towns tﬂgether in
. Febmary? -
(1) 280%
i {3) 290%

(3) 250%

(2)270%
(4) 260%

s ;-wcmt more than the number of gloves sold i in Town Bin
. the same months 7 -
(1y32%

- (3)25%

- {5)20% _
_;:;3& What is the average number of gi@ves sold in Tﬂwn A in
. October, November, December and March 7

M2l 220

'(3) 225 (4) 210

(2) 28%
(4) 30%

20% less thanrthe number of gloves sold in the same town in
" October. What is the respective ratio between the number of
gloves sold in September and those sold m Bacembar in the
. same town ?
n2:9

(3).2 57

- (9H3:10

- Directions (40-44) :
- umbered I and I are given. You have to solve both the
. :Eqmtmng and make an appmpﬁare aAnswer.

- Give answer : - |

(;1) Ifx < y

{21 x> Y

:_(3) If relationship betwaen X and yecan not E:-e estahlished
WIfx<y - e

G x>y | S

(2} i:5
(4)4:9

. .The number of giﬂvﬁs sold in town A in Nﬂvemher is what

48. Lxl+x~12=0;
41. L4x*—15x-19=0;
42, L8x°+18x+9=0;
43. L.3x°+16x+21=0
44. Lx’=49;

EE.,};-I-Q}J——S-":@'I
5.3 -14y+16=0
IL4)+19y+21=0 |
L6 +17y+12=0
0.7 -4y-21=0

48 A and B started a busmess with the investmenis in ﬂ‘iﬂ ratio

of 5 : 3 respectively. After 6 months from the start of the
business, C joined and the respective ratio between the
- vestments of B and C was 2 : 3. If the annual profit earned
by them was ¥ 12,300/-, what was the difference between
B’s share and C’s share in the profit ?
(1) T 900/- (2) T 800/-
(4) ¥ 400/- (5) 3 700/-

46. Respective ratio between total number of students studying
in College A and College Bis 5 : 8. In College B, out of the

total numb@r of students, gth are boys, out of whz;::h 60%

(3) Z 600/-

study Commerce and the remaining 800 bnys study in other
streams. What 1s the total number of students in College A ?
(1) 1500 (2) 2500 (3) 1200
-~ (4) 4000 (5) 2000
47. The respective ratio between speed of the boat upstream and

speed of the boat downstream is'3 : 4. What is the speed of
‘the boat in still water if 1t cnvers 70 km dﬂwsﬁ*ﬂm in

The total aumber of glwﬁs sold in Town B in Saptemb@r is

In mch qugsrza:m two equations

I. Emplﬂye&s of the gwe:n c&mpames can be natﬁgumzed mﬂy
in three types : - :

Science graduates Cnmmerce graduates .and Arts graduates
Il Few values are. missing in the table (nzt.dic:ated by-).- A

~ candidate is expected to calculate the Imssmg value, if it is -
required to answer the given questmns on tha basm of t.he_ _

‘given data a,nd mfurmatmn

48. The average number of SEIEHGE: graduate emplﬂyaes and

Commerce graduate empiﬂyees in Company A was 518..
What is the 1_tﬂtal number of emy Jlnyees in Cﬂmpany A2

(1) 900 (2) 1520 - (3) 1200
(4)1330 L (5)1399.__ L

Rl

3 hours 30 min ?(in km/h)
(1) 18 - (2)185 ~ (‘3) 1’?
@is (5) 16
Directions (48—-52) Refer fo fﬂbfe and ﬂmer z‘&e given
questions. - - e
Bat& related m number of emplnyaes in 5 d;fi‘erent
ﬂrganmﬁnns in Apﬁi 2013 _'
{)ﬂt of ﬂlE tﬂtal lmmher -uf
| . em ln ees . .l m
| © | Total . . ploy« e s
| Compaily | number of Perﬁ:en tagﬂ Percmtage. ?ﬂrcentage
. | employees | of Science.
S Graduatﬂ | Commerce | G"ﬁ!‘“’%“ﬁ-’i .
S s ' = Graﬂuate _a_ e
B .I‘”"‘ | 40% - _“f“ ,m 25% ¢
€ L S0 e L ddh | 3S%
D [i 1300 ) 48% . - . . |
B ] 0% o 50%



49, Total number of employees in Company E was
total number of employees in Company B.

{:twecn numb{.,r nt Cmnmcru:: graduate emp

mtal_ 1mmber of empiayees in company B ‘? I

PO L

(1) 900 - (2) 1500 (3) 1200
(4) 1330 - (5) 1800 - e

50. If the respective ratio between number of Arfs

- - .

i empl{wms and Commerce graduate employees in

D was 9. what was the number of Arts graduate
empiﬂyeés n C.Dmpﬂﬂ}f B I, - | e ¥
1) 236 2)232 (3)208 |

(4) 224 - (5)216 |

51. Total number of employees in Company C increased by
% from April 2013 to April, 2014. If 50% of total number

of employees in Company C in April, 2014 were Commerce

graduates, what was the number of Cummerc:e graduat&

Fioh

employees 1n L"_Tm_n_pany C in April, 2014 7 =
(1) 650 % (2) 630 (3)59%0 ¢+ -
{(4) 570 < {31 814 __ : '-

52. What was the difference between number of Science
graduate . employees and Arts graduate employees In

company C 7 | 5 o L
136 AN 182 . 3) 1285
4y 122 | Gul2e., ¢ & . a wP

5

At present, the respective ratio between the agesof A and B
 is3:4 and that between A and Cis 1 : 2. Six years hence, the
sum of A, B and C will be 96 years. What is the pre '
. ot A?. . e ! |
: 3 12 years

el

e

tank c_ﬂmplaﬁ

y whn_?_:

no 1
ull ,tdnk com pi etely in | no miet is

ca

S .1_'11&;{@3-. s

" Soen

-tths

- L1}

e

(4)14 i |
_% Df104[) + 74,

!.""\'

O

i

-
-

o

Dete

&

(3) 2450

(3) 475

(3) 675

Whaf w:l! mme in place of question

_qeuesrmm two/three

n statements 1o be
Piiim the commonly
e given conclusions

Smtémem‘s disregarding




69. Statements : Some bridges are roads. No road ic underpass
‘o Conclusions :
I. Some bridges are underpasses.
If. No bridge is an underpass.

7{; Statements : No unit is a part, All parts are items. Some
items are elements,
Conclusions :

. L No unit is an element,
II. At least some units are items.

Directions (71-75) : Study the
answer the given questions.

Ten people are sitting in two parallel rows containing five
- people each, in such a way that there is equal distance
~ between adjacent persons. In row iI-B, C, D, E and F are
seated (not necessarily in the same order) and all of them are
facing south. In row 2- R, S, T, U and V are seated (not
- necessarily in the same order) and all of them are facing
north. Therefore, in the given seating arrangement, each

member seated in a row faces another member of the other
TOW.

R sits second to the right of U. The person facing R sits to

" 'the immediate left of D. Only one person sits between D and -
- E. E does not at an extreme end of the line. The person

= facmg E 1s an immediate neighbour of T, S sits third to the
= left of T. F is not an immediate nmghbﬁur of D. B does not
. facell
1. Who amongst the following is facmg N7
e ) D

Yl

Jfollowing information ro

Cgc (4) B
- (5)E_
2. Who-amongst the following is f&cmg c7
e | s s
@y, - @u
COR | -
3, What is the p{}sm{m of D with respect to F ?
(1) Immediate left (2) Second to the left

(3) Third to the right
) Sﬁcund to the ngh‘t

(4) Immediate right

.....

-';__-(i} Nﬂﬂﬂ of the given statements is true. S
- {2) C sits second to the right of B. -

5:5;’1‘(3) B sits at an extreme end of the row.

(4) B faces one of the immediate neighbours {}f T

:';ﬁé':(5) Only two persons sit between B and F.

::ﬁmr of the following five are alike in a certain way based on

‘these does not balﬂng to Ehat group 7

()RU (2} SR

B)VvT 4EB

:.;::{5) ey o

'f5ﬁire;:twns (‘76«33) Stﬁdy the fﬂﬂﬂwmg mfaﬁmﬂnn to
3é.mwer the given que&fwns

18 certain code language, -

'_famt your house red’ is wr:tten as-‘r1 fm eW c::u

Eaie of red colour’ is written as, ‘Ibew op sa’
0use of your choice’ is written as ‘sa Cu 11 uk |

Eﬁfe with red paint’ is written as ‘gy.op N fm’ -
“"li}:{mdes are twa latter cﬂdes anly)

| . 42 | .
* ,S;__J?;,_Whmh of the fﬂlkuwmg bmldmgs has the semnd hzghest

;ﬁlﬁ given arrangement and hence form a group. Whach of |

76. What is the code for ‘red’ in the given code language 7

(1) Other than those given as options

(2) sa (3) gy
(4) ew (5) tm

77. What may be the possible code for ‘gate crash’ in ’ﬁlﬁ gwen
code language 7

(1) jx op (2) 11 op
(3) b jx (4) op 1b

- S _

78. In the given code language, what does the code ‘cu’ stand
for ? ' |
(1) paint (2) Either ‘of” or cnlﬂur
(3) choice  (4) with

(5) Either ‘house’ or ‘your’

'79. What is the code for ‘paint’ in the given code language 7

(1) gy (2) 1m
{3) sa (4) op
(5) 1 |

80. If ‘colour with canvas’ is s::mied as ‘hv Ib gy’ in the given
code language, then what is the code for ‘canvas of choice’ 7

(1) hv nk ew (2)risank
(3) nk hv sa (4) saew hv.
(5) sarihv e

Directions (81-83) :
answer the guestions.

Each of the six buildings-E; F, G, H, I and J has different
number of floors. Only three buﬂdmgs have more number of
floors than J. G has more number of floors than T but less
“than E. I has more number of floors than J. F does not have
_the least number of floors. The building having least number
of floors has 5 floors. The building having: third highest
number of floors has 26 floors. F has 14 ﬂn{}rs iess thaﬁ the
'numberﬂfﬂﬂﬂrsml L e

81. If the number of floors of bualdmg aisless tha;ﬁ 38 and 18 an

* odd number which is divisible by 3 but m}t 7 HEW man*y

floors does G. have 2 o e -

(s ) 35 (3) 9
525 :

" Sfudy the ﬁ:rﬂﬂwfng fﬂfﬂ?‘ﬁ‘lﬂﬁﬂﬂ fo

- __.'number {}f ﬂmrs on o

WLt gF T Y
_@H 36
~ 83. How mauy ﬂmrs dﬂ&.& bmldlﬂg J possﬂ:aiy have ‘?
- (22 (2) 5. (3) li
(4)35 . +(5)12°

| I}lrecﬁmis (84-88) : Study rhe faifﬂwmg mf&?’mﬁﬁﬂﬂ m "
- answer the given questions. =~ .

- Seéven people namely B.C.D, E F G and H have tﬂ attmd a k

workshop but not necessarily in the same ﬂrder in seven

- . different months of the same year namely Ja Eﬂuﬂl‘y& March

;Aprﬂ July, August September ‘and D lecember Each nf
‘them also likes a ‘different ¢ company namely HTC ‘Nokia,.

. Samsung, Blackberry, TCS, Infﬂsya and Gndﬁj but not
necessanly in the same nrder 5 5 i

“- . The one who lﬁces TCS Wlll attﬂnd a warkshﬂp m the m(mth |

.:"-\.

which has Jess than 31 days Only one person w;.l} attend a .

: wnrkshmp between the one whn likes. TCS and B. The oRe -

| : .Whﬂ 1zkes HTC wﬂl attenci a Wm‘kﬂhﬂp zmmedaately befnre



85,

86.

87.

88.

89.

B. Only three people will attend a workshop b@iw-a&n the
one who likes TCS and the one who likes Nokia. H wil
attend a workshop immediately after B. Only three people
will attend a workshop between H and G. The one who likes
infosys will attend a workshop immediately before G. The
one who likes Samsung will attend a workshop immediately
before the one who likes Godrej. E will attend a workshop
immediately after the one who likes Godrej. C will attend a
‘workshop in 2 month which has only 30 days. F does not
like HTC. - '

. How many people will attend a workshop between the

months in which G and D will attend a workshop ?

(1) Two (2) Three

{3) None (4) More than three

(S) One -

As per the given arrangement, G is related to HTC and % i$
related to Nokia following a certain pattern, which of the
following is D related to following the same pattern 7

(1} Samsung - (2) Infosys
(3) TCS (4) HTC
{5) Godre;j .

o

Which of the following represents the month in which F will
attend a workshop 7 | =

(1} March (2) January

{3) December (4) Apnil

{5) Cannot be determined

Which of the following represents the people who will
attend a workshop in March and December respectively 7
()G, H {(2)F, B

(3)F,E (4) F, H

(5)G,E ’

Which of the following companies does G like %

(1) Samsung (2) HTC '

{3) TCS . {(4) Nokia

(5) Blackbm'y

Directions {(89-90) : Study the fﬂﬂﬂwmg mﬁ:rrmaﬂﬂn o
answer the given questions.

K is the brother of 1. J has ﬂﬁﬂ}' one daughter. J is Ehﬂ mnther -

of L L is the sister of T. B is the father of T. T 1s mamed to
R.

How is Jrelatedto R 7 S

(1) Cannot be determined  (2) Sister-in-law

(3) Mother - (4) Aunt

(5) Mother-in-law |

How is T related to K 7 e

(1) Niece _ - (2) Cannot be determined

(3) Nephew (4) S{m " -
(5) Daughter

Directions (M@S} In these quesfmns relationship

between different elements is shown in the statements. T?nef
statements are followed by conclusions. Study the

conclusions based on the gWEF! SfﬂIEmEﬁIS r.md Sefecr a‘hﬁ
appropriate answer.

- {zive answer

(1) If only conclusion I is true
(2) If meither conclusion I nor I is tm’g |

91

92.

Smmﬁams {%-M)

93.
- 94,

95.

96.

97.

= &mcﬁmaﬁﬁs I.C>P

(3) If both conclusions I and 11 4 Mub

Iistruc
4) If only conclusion
%5) If either conclusion [ or Il 1s true

Qtatements P{Lé‘&}N K}S C=A

Conclusions : L. iL>K
L. P<5

Qtatements : J>U >N=K<E<D | _

Conclusions : 1. ESU &
- [I.D>N
§{3{K{L}M?N K{B 5

Conclusions : 1. N«<L
Il. L=N

Conclusions : EI{S |
EEJ{B

Sm‘temems P<L<A>N=K2 S; C z A

ILP=C
Directions (96-100) : Study the fm’!ﬂwmg information to

answer the given questions.
JK,L,M,N,; O, Pand Q are sitting around a circular table

facing the centre with equal distances between each other
{bu‘i‘ not necessarily in the same order). Each one -ﬂf them is
also related to N in some way or the other.

K sits third to the left of N. Only one person sifs between N
and Q. N’s sister sits to the immediate right of Q. Only two
people sit between N’s sister and N’s mother. J sits to the |
immediate right of N’s mother. P sits to the immediate right |
of M. N’s brother sits third to the ﬂght of P. N’s wife sitg :
second to the left of N’s brother. , |
Only three people sit b_etwem_N s wife and L. N’s son sits g
second to the right of N’s father. Only two people sit |
between N’s father and N’s daughter
Who amongst the fﬂﬂuwmg is the son of N fr) . :

(hHo O

Q3K S (4) 3

(%) M | . | -

How m&n}r people sit batween N and K when counted from

= L TN T T e T e P | g e e e et e R LRI D e TN T LI et T L e e D T T A R e A T

. theright of K 7
- (1) Five i - Twn

98.

- 106.

- (5) Daughter

g; Four | | (4-) Nane

Who sits to the mumdlate nght uf Q 2
05 - £2) N’s sister .

_{B}N S (4)Nsmfe

() K

. Which of the fﬂllnwmg statements 13 tme thh %espéct to the

given information ? .

(1) All the given ﬂptmns are true

(2) P sits to the immediate leftof 3, ..

(3) N’ s mﬂthe:r sxts to the immadiatﬂ left uf N |

 (4) M is the mﬂther-mq.’law of Q. .

(5)Nisan ;mmedlate nelghbuur ﬂf has father ,

How is J related ’m L 2 ;
(1) Sister . y) ’
(3) Siﬂtﬁr*-lﬂ-lﬂw _ 243 F:ﬁ:r :
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